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| Semester B.Com. 3 Degree Examination, Nov./Dec. 2016
(Fresh and Repeaters) (New Syllabus)
Paper — | : BUSINESS ECONOMICS - |

Time : 3 Hours ' Max. Marks : 80

Instructions : 1) All Sections are compulsory.
BRI QD DEITTEO FEIADTINGT.

2) All sub-sections should be solved continuously atone place.
DD JIMT F8Ze30/ 2w0ie 56 6050200,

3) Draw diagrams wherever necessary.
ews;sséomgg demzs_@;m}zi WAO.

SECTION-A
PN - &

1. Answerany ten of the following in 2-3 sentences each : (10x2=20)
NS eros B IInert 2-3 ENGY w0300

a) What is Positive Science ?
TORDE D2 3 0T3Te ?

b) What is opportunity cost ?
RACORTST 303, DTS ?

c) Give the meaning of increase in demand.
23e8F DB ' 0 e93F BRRO.

d) Define cross elasticity of demand.
“23eBod eerss %ém@wé%” WD,

e) Qg =f(P) is supply function. Identify the independent variable in it.
Qg =f(P) Q@%ﬁ wﬁaﬁd%osoeggjo :’;ﬁog zﬁe@d;&;ﬂ OO0,

f) State the meaning of zero elastic supply.
5.@0?5 %@m@ﬁ%@d asja%@od) LI TEYO.

P.T.O.
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g) Mention the any two determinants of supply.
TPTFODR AT ORI OIREYTTEIR 0B L0BNYR) FRILDRD.

h) Name any two modern factors of production.
O3 TIVTITR TR BHIRT YUBITID woﬁﬁ%ﬁsg{ BIOO.
i) Give the meaning of internal economies of scale.

30308 méaﬁzsojad e 3RRD.

j) What is Autonomus demand ?
79,0308 23e8E OTTED ?

k) Calculate the ‘Average Revenue’ when
i) Total units produced = 150
ii) Total Revenue =X 1,80,000.

ROIRO ST OB FEN £208- 203N &g SRRO.
i) 20830, CUBIORT Fe3sngo =150
ii) 2830, &0 = 1,80,0000 oR. NLL.

I) What is difference between fixed cost and variable cost ?
zgpd dzazs’s 0B WM ﬁzimﬁ RN 5233357\3’5633 ?

SECTION-B
PN - W
Answer any three of the following : (3x5=15)
FFNSRNGE) 00 TOTETR SoRTE, SVUBORO :

2. Explain the responsibilities of Business Economist.
RPVHOOT @C;ﬁ%"?ﬁ)#d % g m's-é’maﬁojo@t QDWORD.

3. What are the exceptions to Law of Demand ?
23R QOROT BTN N ?

4. Write a note on determinants of supply.
mgéodo @mrd&ﬁ@ﬁa@ B0 wwgé WTOWD.
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5. Explain the Cobb-Douglas production function.
T - TBMA" O30 GUBITI WOTHI) DTBORD.

- 6. Calculate the price elasticity of demand when
Po=Z5 Q, = 150 units
P,=%X10  Q, =80 units.
WeRdod u3e3 Réa;v%ﬁé% g, T80
P,=8r. 5 Q=150 H33ned
P,=0nr. 10 Q, =80 Hwsnbd.

SECTION-C
QYFIN - B

Answer any two of the following : (2x15=30)
FPNTYNT oSBT QTG SUZORD: '

7. What s business economics ? Explain the nature and characteristics of business
economics.

008 LR R, 2otde 2 S0 SHF IR 2,008 303 UFarR HIORO.

8. Adepartmental store conducted a study of demand for men’s T-shirts. It has
demand function D =800 — 5P

a) How many T-shirts per day can the store expect to sell at a price of Rs. 100 per
T-shirt ?

b) If the store wants to sell hundred T-shirts per day, what price should it charge ?
c) What will be the maximum price that store can charge ?

QAT T — FEFrNS 3003 20T DT F 303 RRET LT30S 37{@0@& 9330
wIeqdg wors D = 800 — 5P 9333,

a) [T — 33 B3 3. 100 BTT, B8 DI RRFT IR, T-BLROF TR BR00E BB
Qe@%,\oéd ?

b) uodo S AReo* Te& O3 100 T-eﬁ@sormﬁdo SIITED LIOIRITS 03093 23¢3
QORI 7

C) R0 oI ﬁbe—z’%ﬁdojazdgt QRRWTITI 9

9. Discuss the different types of elasticity of supply.
Rp3E %@m@ﬁﬁ%d A ) gmmg 230,
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10. a) Define the following various concepts of costs.

11

BINS B3N T TOBOFOIR) 3,559, AR0:
Average fixed cost (r\)mr\)b Nd ﬁ?,é Average variable cost (20270 wenndss w53 3)
Total cost (%t dzsw) Average cost (30270 ﬁzﬁw) Marginal cost (¢20233 ﬁzsw)

b) Calculate FC, AFC, VC, AVC, AC and MC from the following data :
BSNS @O%—"O@j Ng 3Bo0DNT r\)d ﬁ?.i:) Feprte! Nd 5?3 WERNS 3?3 ATIAO
WTTIMNOD dzs NUON@ dzs =083 @owﬁ ddﬁém e%dm@@

Output (in units)
ﬂ%(ﬁ,usﬂe}g’) 0 1 2 3 4 B 6 7

Total cost (in Rs.) _
230, 324 (3. 9O ) 300 [ 350 | 410 | 480 | 560 | 650 | 750 | 870

SECTION-D
dn- 3

Case let: | (1x15=15)
23 DTERRT:

Read the case let and answer the questions below.
39 8o, 18 ITRNT O FINS TR LwZoR0.

Oppo Mobile Company has registered its sales during the last five years as under.
.3, SRLIEF BTV BIES 20T BRI RSV @t o ne SRt T 33 38NI083.

Year
~=c 201112012 | 2013 | 2014 | 2015

Sales (in Cr.)

M plept X! 120 | 140 | 150 | 140 | 170
(3ee Se.nER )

Questions:
B3N

a) Define demand forecasting.
Werdodd dw@omwaﬁd& 3, STYRRD.

b) Calculate the sales of Oppo company for the next five years.
00T T BRFNGSTN Lz BoTAOD SRTHLT LT SRED.

c) Should Oppo Company expand its business in future ?

PR ETO, b3 BoTRODO I IE0RR DFOREe ?




